SB401 (ben3onuna 1,8 kBt /2,4 n.c. 40,2 cm3)

VYAVILLARTEC Mopens arperata

KOHCTpYyKTUB.

(o
)

&)

7N/

ﬂﬂ\, (o))

=\




VILLARTEC

Mopenb arperarta: SB401 (ben3onuna 1,8 kBTt /2,4 n.c. 40,2 cm3)

KOHCTpYKTUB.
Cnucok 3amacHbIX YacTeu
Ne Ilo3. | ApTHKYJI e TATH HaumeHoBaHue KoJ1-Bo

1 4001002122  [Kaprep 1/2 nepas SB401 1
2 4001005102  |[[Tudr 3
3 5080112321 [Hoammmuk 2
4 3001039101 Awmoprmatop SB401 2
5 4019001110  |TIpokmagka kaprepa SB401 1
6 4001004123 Kaprep 1/2 npaBast SB401 1
7 507023200 CromnopHoe konbiio SB401 1
8 5090212325 Canbauk npaBsiii SB401 1
9 5030308261 [IImuteka kpemienys mmHbl SB401 2
10 4014008109  |3anmrnasa wiactuda SB401 1
11 5010604061 Buar M4x6 1
12 5020905101  [Taiixa 2
13 4009010114  [Brynka 1
14 3001022302  [Dnanern kap6ropaTopa SB401 1
15 5010605121 Buar M5x12 8
16 4013002161  |Hdemndep dmanma SB401 1
17 4007007111 Brynka tormBHo# TpyOku SB401 1
18 4019006101 Ymiornenne kaporopatopa SB401 1
19 4017001222  |KapOGropatop SB401 1
20 4009003130  |IIpoBox SB401 1
21 3001032301 I"atika Bo3mymHoro ¢uwibTpa SB401 1
22 4005016101 VY mwiorHeHue raiiku Bo3aynHoro guistpa SB401 1
23 4005017101 Kponmrrein Bo3aymsoro puwistpa SB401 1
24 4005001207  |Bozaymmsiii puwibTp SB401 1
25 3001035301 JlHo Bo3mo3myrHoro mwibTpa SB401 1
26 5010705501  [Buatr M5x50 2
27 4013002123  [demndep SB401 2
28 3001031104  |KonrponbHslii kpoHmTeriH SB401 1
29 4009005104  |Beikmouatesns SB401 1
30 4008003108 | Tsara SB401 1
31 4008004102  [Brynka 1
32 3001034304  [Pwruar BozmymiHou 3acyionku SB401 1
33 3001064111 ®ukcaTop npyxunbl SB401 2
34 4013001115  [ITpyxunra SB401 1
35 4013006202 | Top npyxunst SB401 1
36 5090112221 Canpauk neBbiit SB401 1
37 4009002328  |Moayinb 3axuranusi SB401 1
38 5010605251  [Buar M5x25 5
39 5010605182  [Buar M5x18 5




v,LLARTEc Mopgenb arperara: SB401 (ben3onuna 1,8 kBT /2,4 n.c. 40,2 cm3)

KOHCTpYKTHUB.

40 4014007201 Canyn macnobaka SB401 1
41 4009001209  |Maxosux SB401 1
41.1 5011605113  [Bunr 5x12 SB401 2
41.2 4012005110 Cobauka maxoBuka SB401 2
41.3 4012006110  |IIpyxuHa cabauku SB401 2
42 5021108001 [ITait6a M8 1
43 4014009101 Ymioraenue mpodku maciodaka SB401 1
44 3004025202  |IIpo6ka maciobaka SB401 1
45 5010406162  [Buar M6x16 2
46 3001064106  [IIpyxwunHOE coenmuenne SB401 2
47 401300114 [TpyxuHa SB401 1
48 4007004112 | Tpybxa SB401 1
49 4007005103 CromnopHoe KombIo D6 2
50 4007011101 Kppimka camyna SB401 1
51 4007002201 Canyn 6enzobaka SB401 1
52 4007004107  |benzo nutanr SB401 1
53 4007007103 Brynka tormmBHo#M TpyOku SB401 2
54 4007001201 TormHzell GwibTp SB401 1
55 3001004341 TorumBHIHM 6ak, kKopryc SB401 1
56 4007010102 | YmiorHenue npooku Oenzobaka SB401 1
57 3001027202  [TIpobka 6en3obaka SB401 1
58 5040104301 s 930 1
59 3001020114  |Kypok raza SB401 1
60 4008002111 IIpyxwuHa kypka raza SB401 1
61 3001021114  |Cronop kypka raza SB401 1
62 3001008118  |Bepxnsist uacthb pykosatku SB401 1
63 5010339141 Bunr 3,9x14 1
64 5010405141 Buntr M5x14 3
65 4013001112 |IIpy>xuna SB401 1
66 3001019110  |PyxosTka ayra SB401 1
67 5010548162  |Bunr 4,8x16 4
68 4004004103 CromnopHoe kombiio SB401 2
69 4004005110  |ITaiiba 2
70 5060103101 [IImonka SB401 1
71 4004003118 [Topumesoit nanen SB401 1
72 4003001224  |Konenuatsiii Ban SB401 1
73 5080809121 Hrompuatem nogimmuk K9x12x12 SB401 1
74 4004001326  |ITopmens SB401 1
75 4004002111 [TopumeBbie komblia SB401 2
76 4019002117  |IIpoxknanka mwmHapa SB401 1
77 4002001144 | HwmHap SB401 1
78 5010606161 Buar M6x16 2
79 4006001241 [Tymoraymmrens SB401 1
&0 4019003109 JIuct oxmaxnenns SB401 1




v,LLARTEc Mopgenb arperara: SB401 (ben3onuna 1,8 kBT /2,4 n.c. 40,2 cm3)

KOHCTpYKTHUB.

81 5011605202  |Buar M5x20 4
82 4009004101 Caeua 1
83 4005002302  |Koneno SB401 1
84 4005004101 Jledbdyzop SB401 1
85 4009011104  |IIpyxwuHa SB401 1
86 4007008101 3anmra SB401 1
87 4007004173  |Bakyymnas TpyOka SB401 1
88 4014002202  [Macasssiii puwistp SB401 1
89 4014011101 I'py3uk macaenoro ¢miTpa SB401 1
90 4014004103 Macno nuaar SB401 1
91 4014017101 ITpoxnaaka maciyio Hacoca SB401 1
92 4014001203 Macno Hacoc SB401 1
93 4014005108  |[Tpy6ka macmo Hacoca SB401 1
94 5011304151 Bunr M4x15 6
95 4014006312  |Yepssk macio Hacoca SB401 1
96 5080810121 Uronpuateni nognmmmk K10x13x12 SB401 1
97 4010004304  |[IpodunsHoe 1ierHOe Koeco SB401 1
98 4010005103  |IIIait6a 1
99 4010001102  |I'py3uxu mydrsl cuerenns: SB401 3
100 4010003102  [ITpyxuna mydrsl cuemenuss SB401 1
101 4010002103 Kpectouna mydrs! criemienns SB401 1
102 4018002107  |3armymka SB401 1
103 4018004101 [wisaa SB401 1
104 3001033304  |Bunr BepxHel KpblIKU Bo3aymHoro ¢puistpa SB401 1
105 3001010162  |Kppika Bo3aymHoro pumstpa SB401 1
106 3001009331 Koxyx SB401 1
107 3001014115  |Kpsimka Benrmwigtopa SB401 1
108 5011605142  |Bunr 1
109 4012010106  |TToBomok myckoBoi npyxunbl SB401 1
110 4012002107  |BosBpatHas npyxuHa SB401 1
111.1 4012015113 [IIxuB ctaprepa SB401 1
111.2 4012015106  |IlIxuB cTaprepa SB401 1
112 4012003102 [Iayp craprepa SB401 1
113 4012001206 Kaccera npyxunsl ctaprepa SB401 |
114 4012001102  |IIpyxwuHa ctaprepa SB401 1
115 3001024105 Pyuka craprepa SB401 1
116 4504001101 Brynka craprepa SB401 1
117 30010133108  |Kpsimka craprepa SB401 1
148 5020908001 [[lecturpanHas raitka M8 2
149 4018002102  |Bunr xapo6ropatopa (L-H) SB401 1
150 4007016101 [Tpaiimep SB401 1
151 4007004114 | TommBHeIi nutanr SB401 1
152 4007004116 | TornmmBzeli nutadnr SB401 |
153 4000011103  [3y6uaTsrit ymop SB401 1




\\ v’LLARTEc Mopgenb arperara: SB401 (ben3onuna 1,8 kBT /2,4 n.c. 40,2 cm3)

KOHCTpYKTHUB.
ZCO05 3002001001  |Mydra cuemenus SB401 1
7C04 3002002501 [Tpobka macnobaka B coope SB401 1
Z7C03 3002002401  |IIpobka 6en3obaka B coope SB401 1
7C02 3002003104  [Kppiiika criemuieHus ¢ TOpMO3HBIM MeXaHmMoM B coope SB401 1
7C01.2 3002000386 |Craprep B c6ope SB401 1
ZCO01.1 3002000381 Craprep B coope SB401 EASY STARTER 1




